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How do they compare?
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Which 1s greater?
525) > 5(20)+5
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Write the inequality.
3(5 2) < 2(2+3)
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Write the inequality.

3(10) +3(6) <~ 6(9)+4
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Write the 1nequality.

3.07 > 3.007
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Write the inequality.
1250 >~ 12.34
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Write the mnequality.
5602 < 5.620Q0
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Write the 1nequality.
1.411 > 1.380

— — — — —



9.24.19.notes.notebook September 24, 2019



	Page 1: Sep 23-8:37 PM
	Page 2: Sep 23-8:46 PM
	Page 3: Sep 23-8:46 PM
	Page 4: Sep 23-8:46 PM
	Page 5: Sep 23-8:46 PM
	Page 6: Sep 23-8:46 PM
	Page 7: Sep 23-8:46 PM
	Page 8: Sep 23-8:46 PM
	Page 9

